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QI (12 marks) The magnetic flux density at t >0 for three different cases is shown below. For each case

mdleuewhedwuamentmllbegcnqmed mE;wuo-loop and if it exists, speclfymdneeuon(clockwxse

fockwise). F“mhmyom st
B=t? w,b/m2 B=5 Wb/m? 381%.(? Wt
éo © 0 Eé (OJNOINON! Eé O 0 0
© 00 ©0O0 & B 6
‘ (@) ®) @
Answer:
= (a) - (b) &)
Generated current? ' >
(ves/ no) il Qﬁ }é’/ WD/ Q (—/:/
Current direction? ' —
(3 marks) A
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QL1 | 2 mark] Assuming thit ench loop I stationary and the tme-varying magnetic v
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s equations for time- varying
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5) 1 Iirkl ’ll one dimension, a scalar wave equation-takes the form of










Q3 (4 Marks)

“The electric fil
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